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Which expression is equal to 12 x 5?
A 2+(10x5)

B (6+5) x(6+5)

C  (6x5) +(6x5)

D (10+5x(2+5)

Mrs. Parrish has 3 sisters.

. She mailed 2 cards to each of her sisters in October.
. She mailed 4 cards to each of her sisters in November.

«  The expression (2 x 3) + (4 x3) could be used to find the total
number of cards Mrs. Parrish mailed to her sisters.

Which expression shows another way to find the total number of cards Mrs. Parrish
mailed to her sisters?

A 2x3+7
B (2+3)x4
C 3x2+4
D

3x(2+4)




